
 

Itt Assume Xi is max of inductingX Xn 1 onsteps

Xie Xu is max suff of ay ofALG
ALG If Xna Nc xn Xix Xj then Xn is new OPT

IS Supp OPT of A xn is Xa Xb
Case 7 bln Then Xia Xb is also OPTof Xi Xn l
By IH we must have a i bij doneV

There could be multiple OPT but assnm one for simply
case 2 b n

Claim Xa Ab is OPT suffix of X xn e
Hn If not XicIInxn xa nIb is not OPT A

contradiction

Aa Kb is OPT suffix Soaa K So we update OPT correctly
byIH

ALG If 1inSo then OPTsaff is empty otherwise add

xn to Xk tht
Supp ka xn is OPT suffix fit can be empty
Case h If OPTSaff is empty
In this case we must have act xn 30 otherwise OPT

suffix is positive And we update correctly

Case 2 OPTsuffix is non empty

Claim Aa Xm is DPT sniff of a xn a
Pf If not xx kn i aI go.fidia Pnt

shHB

Therfore By IH we must have k a



ly n 1
And Xia xn xa xn o So m update correctly
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if m Cn 1 K
output yes

0hr

output no


